R	Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			IN-000669 Cora and Company			
10/19/2023 11:00 AM Install 10/20/2023 07:30 PM Strike		PO: Shipping Address: Redlands		Invoice Date: Due Date: Upon Receipt		pt	
				Salesperson: Milana Ayvazov		Ayvazova	
Description			Qtty	Price		Total	
Ballroom							
	Perimeter Stock Dr black velvet or sheer ch & base, sandbags, *includes draping Tunne		1	\$6,900.00	Т	\$6,900.00	
	Valance In Stock - 3 black	350'	1	\$1,500.00	Т	\$1,500.00	
	Store Fronts / Hau approx dimensions 15 drape, TBD color of hou	N x 12'H, facade only, inner walls are black	2	\$6,500.00	Т	\$13,000.00	
	Custom Ceiling - B	lack Flat 14' x 14'	2	\$0.00	Т	\$0.00	
	Chandeliers - Sofia hung in the haunted hou 34"W X 40"H - 45lb - 45l	use on pole, Check weight restriction,	2	\$300.00	Т	\$600.00	
	frame in black, with velv	ew York - Folding 8' - Black Velvet & Nailhead	1	\$900.00	Т	\$900.00	
	Panels - Clear Plex Custom Hand Painted E (5) 4' x 10'H (3) 51" x 10	Branches, frame painted in black,	4	\$1,100.00	Т	\$4,400.00	
	Bars - Los Angeles custom hand painted bi 6'W x 30"L x 40"H - Cus		1	\$900.00	Т	\$900.00	
	Top Hats - Monacc 8' Diam	o - Black Velvet	1	\$650.00	Т	\$650.00	
	Booths - Las Vegas black pillows included 5'4 W x11.2"L x 2.3"H	s - Black W/ Acrylic Legs 2 Pc Set	2	\$650.00	Т	\$1,300.00	
	Coffee Tables - Roi paint color black 48"round x19"h	und - Multicolor	2	\$300.00	Т	\$600.00	

Description		Qtty	Price		Total
	Accent Pillows covers tbd, charcoal / purple	8	\$40.00	Т	\$320.00
	Ottomans - Standard Pod black cover to match sofa 18"RND x 17"H - Cover Color Upon Request	6	\$50.00	Т	\$300.00
	Small Dining Tables - Berlin - Round Chrome Sit Down 36"Diam x 30"H	3	\$200.00	Т	\$600.00
	Dining Chairs - Berlin - Chrome Circles black cushions 19"W x 23"L x 42"H - Back & Seat Cushion Cover Color Upon Request	15	\$28.00	Т	\$420.00
Ann	Stand Up Tables - Berlin - Chrome 37" Diam x 40"H	1	\$200.00	Т	\$200.00
	Barstools - Buenos Aires - Chrome black cushions 21"W x 17"L x 4'H - Seat Height 30"	4	\$30.00	Т	\$120.00
			Total Ballro	oom	\$32,710.00
Props					
	Holidays - Halloween - Pop Out Skeleton In Half Coffin	1	\$80.00	Т	\$80.00
	Holidays - Halloween - Animated Talking Witch	1	\$80.00	Т	\$80.00
	Holidays - Halloween - Animated Zombie 01	1	\$80.00	Т	\$80.00
	Holidays - Halloween - Animated Zombie 02	1	\$80.00	Т	\$80.00
	Holidays - Halloween - Animated Zombie 03	1	\$80.00	Т	\$80.00
Ä	Holidays - Halloween - Black Cat	1	\$20.00	Т	\$20.00

Description		Qtty	Price		Total
¥	Holidays - Halloween - Bloody Hand 12" 12" - Right Hand	4	\$20.00	Т	\$80.00
30inch	Holidays - Halloween - Giant Furry Spiders L ^{30"}	3	\$10.00	Т	\$30.00
20inch	Holidays - Halloween - Giant Furry Spiders M 20"	6	\$8.00	Т	\$48.00
12inch	Holidays - Halloween - Giant Furry Spiders S 12"	6	\$6.00	Т	\$36.00
	Holidays - Halloween - Hanging Ghost 44"W x 60"H	3	\$50.00	Т	\$150.00
N. C.	Holidays - Halloween - Hanging Skeleton Ghost	2	\$50.00	Т	\$100.00
	Spider Web Decor - For Chandi + Inside Haunted House	1	\$150.00	Т	\$150.00
			Total P	rops	\$1,014.00
Tools + Extras					
	Roll of Black Lycra	1	\$0.00	Т	\$0.00
	Hot Glue Gun For Decor	1	\$0.00	Т	\$0.00
	Fishing Wire For Decor	1	\$0.00	Т	\$0.00
		Total Tools + Extras		\$0.00	
Pullsheet					
	Panels - Store Front 01 11'9"W x 11'H	1	\$0.00	Т	\$0.00
	Panels - Store Front 03 11'9"W x 13'9"H	1	\$0.00	Т	\$0.00
			Total Pulls	heet	\$0.00
Please make che	ecks payable to Revelry, Inc.		Total Produ		\$33,724.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Wear & Tear (5.00%): Packing (3.00%):			\$0.00 \$1,686.20
					\$1,000.20
Notes					

Notes

Taxes :	\$3,203.78
Discounts:	(\$0.00)
Total:	\$36,927.78
Payments:	(\$0.00)
Balance:	\$36,927.78